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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ-nÌ na Zm_m§H$ A{Zdm ©̀V… {bI| &

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) g^rg^rg^rg^rg^r àíZ H$aZo A{Zdm ©̀ h¢ &

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI| &

Write the answer to each question in the given answer-book only.
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4) {OZ àíZm| _| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI| &

For questions having more than one part, the answers to those parts are to be written
together in continuity.

5) àíZ-nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU _| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr
^mfm Ho$ àíZ H$mo ghr _mZ| &

If there is any error / difference / contradiction in Hindi & English versions of the question
paper, the question of Hindi version should be treated valid.

6) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$_m§H$ Adí` {bI| &

Write down the serial number of the question before attempting it.

7) àíZ H«$_m§H$ 19 go 20 _mZ{MÌ H$m`© go g§~§{YV h¢ & àË`oH$ àíZ 2 A§H$ H$m h¡ &

Question No. 19 to 20 are related to map-work carrying 2 marks each.

8) {díd Ed§ ^maV Ho$ CnbãY H$amE JE aoIm-_mZ{MÌm| H$mo CÎma-nwpñVH$m Ho$ gmW ZËWr H$a| &

Attach the given outline maps of World and India with the answer-book.
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IÊS> - AIÊS> - AIÊS> - AIÊS> - AIÊS> - A

SECTION - A

1) ZrMo {X ò J ò ~hþ {dH$ënr` àíZm| Ho$ ghr {dH$ën H$m M`Z H$a CÎma nwpñVH$m _| {b{IE &

Write the correct answer to the given multiple choice questions in the answer
booklet.
i) ""_mZd ŷJmob ApñWa n¥Ïdr Am¡a {H«$`merb _mZd Ho$ ~rM n[adV©Zerb g§~§Ymo H$m AÜ``Z h¡'' _mZd

ŷJmob H$s `h n[a^mfm {H$gZo Xr? [½]

(A) a¡Q>Oob (~) g|nb

(g) ãbme (X) {J«{µ\$W Q>oba

"Human geography is the study of the changing relationship between the
unresting man and the unstable earth". Who gave this definition of human
geography?
(A) Ratzel (B) Semple
(C) Blache (D) Griffith Taylor

ii) àdmg H$m à{VH$f© H$maH$ h¡ - [½]

(A) ~ohVa Adga (~) ñWm{`Ëd

(g) AZwHy$b Obdm`w (X) ~oamoOJmar

The push factor of migration is -
(A) Better opportunities (B) Stability
(C) Pleasant Climate (D) Unemployment

iii) H$m¡Zgm H$WZ gË` h¡ - [½]

(A) AmIoQ> d ^moOZ g§J«h {ÛVr`H$ {H«$`mE§ h¡

(~) ŷ_Ü`gmJar` H¥${f IÅ>o \$bm| Ho$ {bE à{gÕ h¡

(g) {_{lV H¥${f _| Ho$db newnmbZ hmoVm h¡

(X) {Zdm©h H¥${f H$_ OZg§»`m dmbo joÌm| _| hmoVr h¡

Which statement is true -
(A) Hunting and gathering are secondary activities
(B) Mediterranean agriculture is famous for citrus fruits
(C) In mixed farming only animal husbandry takes place
(D) Subsistence Agriculture is done in low population area
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iv) CnbãY H$ƒo _mb H$m ê$n ~XbH$a Cgo _yë`dmZ ~ZmZm H$m¡Zgr {H«$`m H$m {hñgm h¡ - [½]

(A) àmW{_H$ (~) {ÛVr`H$

(g) V¥Vr`H$ (X) MVwW©H$
Transforming available raw material into valuable products, is a part of which
activity -
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

v) {díd H$m gKZV_ aobV§Ì H$hm± {_bVm h¡? [½]

(A) `yamon (~) A\«$sH$m

(g) AmñQ́>o{b`m (X) E{e`m
Where the most dense rail network is found in the world?
(A) Europe (B) Africa
(C) Australia (D) Asia

vi) ^maV H$s nhbr OZJUZm H$~ hþB© Wr? [½]

(A) 1872 (~) 1881
(g) 1891 (X) 1861
When was the first population census in India conducted?
(A) 1872 (B) 1881
(C) 1891 (D) 1861

vii) nmÝZm, nmS>m, nmbr, ZJbm BË`m{X {H$gHo$ àH$ma h¡? [½]

(A) nëbr ~pñV`m (~) Mmdb H$s {H$ñ_

(g) JwpÀN>V ~pñV`m (X) J«m_rU g‹S>Ho$
Panna, Para, Palli, Nagla etc. are types of
(A) Hamleted Settlements (B) Crops of Rice
(C) Clustered Settlements (D) Rural Roads

viii) a~r H$s \$gb h¡ - [½]

(A) Mmdb (~) ~mOam

(g) H$nmg (X) gagmo
The rabi crop is -
(A) Rice (B) Bajra
(C) Cotton (D) Mustard
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ix) do g‹S>H|$ {OÝh| Ho$ÝÐ gaH$ma Ûmam {Z{_©V d AZwa{jV {H$`m OmVm h¡ H$hbmVr h¡ - [½]

(A) amï´>r` amO_mJ© (~) amÁ` amO_mJ©

(g) {Obm g‹S>Ho$ (X) J«m_rU g‹S>Ho$

The roads which are constructed and maintained by the central Government
are called -

(A) National Highways (B) State Highways

(C) District Roads (D) Rural Roads

x) g_` Ho$ Xmo A§Vambmo Ho$ ~rM EH$ joÌ {deof _| hmoZo dmbo OZg§»`m n[adV©Z H$mo OmZm OmVm h¡? [½]

(A) OZg§»`m àdmg (~) OZg§»`m KZËd

(g) OZg§»`m d¥{Õ (X) OZg§»`m {dVaU

Change of population in particular area between two points of time is known
as -

(A) Population migration (B) Population Density

(C) Population growth (D) Population distribution

xi) _bo{e`m d B§S>moZo{e`m _| H$s OmZo dmbr ñWmZm§V[aV H¥${f H$m Š`m Zm_ h¡? [½]

(A) >Pyq_J (~) {_ënm

(g) amoH$m (X) bmXm§J

What is the name of the shifting cultivation practised in Malaysia and Indonesia -

(A) Jhuming (B) Milpa

(C) Roca (D) Ladang

xii) d¥hV Prb Am§V[aH$ Ob_mJ© pñWV h¡ - [½]

(A) CÎmar A_o[aH$m (~) ~«mOrb

(g) E{e`m (X) A\«$sH$m

The great lakes inland waterways is situated at -

(A) North - America (B) Brazil

(C) Asia (D) Africa
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xiii) ^maVr` OZJUZm _| G$UmË_H$ d¥{Õ Xa dmbm XeH$ h¡ - [½]

(A) 1901 - 1911 (~) 1911 - 1921

(g) 1921 - 1931 (X) 1931 - 1941

The decade with negative growth rate in Indian Census is -

(A) 1901 - 1911 (B) 1911 - 1921

(C) 1921 - 1931 (D) 1931 - 1941

xiv) AnaånamJV D$Om© ñÌmoV h¡ - [½]

(A) H$mo`bm (~) noQ´>mob

(g) àmH¥${VH$ J¡g (X) gm¡a D$Om©

Non-conventional energy source is -

(A) Coal (B) Petrol

(C) Natural gas (D) Solar Energy

xv) ^maV Ho$ g‹S>H$ Omb H$m {díd _| ñWmZ h¡ - [½]

(A) nhbm (~) Xÿgam

(g) Vrgam (X) Mm¡Wm

India's road network has a place in the world -

(A) First (B) Second

(C) Third (D) Fourth

xvi) M_‹S>m, bwJXr d H$mJO, dñÌ VWm agm`Z CÚmoJ à_wIV: H$m¡Zgo àXÿfU Ho$ H$maH$ h¡ - [½]

(A) Ob (~) dm ẁ

(g) Üd{Z (X) ^y

Leather, pulp and paper, textile and chemical industries are factors of which
pollution?

(A) Water (B) Air

(C) Noise (D) Land
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2) [aŠV ñWmZm| H$s ny{V© H$s{OE -

Fill in the blanks -

i) ............... Zo Zd{ZíM`dmX g§H$ënZm àñVwV H$s & [½]

_______ introduced concept of neo-determinism.

ii) ^m¡{VH$ ^yJmob ............... n`m©daU H$m AÜ``Z H$aVm h¡ & [½]

Physical geography studies ________ environment.

iii) O~ bmoJ EH$ ñWmZ go Xÿgao ñWmZ na OmVo h¡ Vmo dh ñWmZ Ohm± go bmoJ J_Z H$aVo h¡ ......... H$hbmVm
h¡ & [½]

When people move from one place to another, the place they move from is
called the ________.

iv) OZdar 1995 go JoQ> (GATT) H$mo ........... _| ê$nm§V[aV H$a {X`m J`m & [½]

The GATT was transformed into the ________ from January 1995.

v) Ob, noQ´>mo{b`_ Am¡a àmH¥${VH$ J¡g O¡go Vab Ed§ J¡gr` nXmWm} Ho$ n[adhZ Ho$ {bE ......... H$m à`moJ
{H$`m OmVm h¡ & [½]

______ are used to transport liquids and gases such as water, petroleum and
natural gas.

vi) gZ² 2011 H$s OZJUZm Ho$ AZwgma ............. ̂ maV H$m {ÛVr` gKZV_ OZg§»`m dmbm amÁ` Wm & [½]

As per 2011 census _______ was the second most densely populated state
in India.

vii) ^maV _| ZJam| H$m Aä ẁX` ............... H$mb go hþAm h¡ & [½]

Towns flourished since _______ times in India.

viii) Iar\$ H$s \$gb| ................ _mZgyZ Ho$ gmW ~mò r OmVr h¡ & [½]

The Kharif season crops coincides with ________ monsoon.

ix) YamVbr` Am¡a ^m¡_ Ob H$m gdm©{YH$ Cn`moJ ............. _| hmoVm h¡ & [½]

______ accounts for most of the surface and groundwater utilisation.

x) ho_oQ>mBQ> d _¡½ZoQ>mBQ> ............ Ho$ A`ñH$ h¡ & [½]

Haematite and magnetite are ores of ________.
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3) A{V bKwÎmamË_H$ àíZ -
Very Short Answer type questions -
i) OZg§»`m àdmg Š`m h¡? [1]

What is population migration?
ii) {Û-nmpíd©H$ ì`mnma H$mo n[a^m{fV H$s{OE & [1]

Define Bilateral trade.
iii) _mZd {Z{_©V Zm¡ dmhZ Zha H$m¡Zgr h¡ {Og_| Ob~§YH$ V§Ì {_bVm h¡ & [1]

Which is the man made Navigation canal, having locks system.
iv) gwXÿa O§Jbmo VWm nhm‹S>r T>bmZm| na EH$mH$s Pm|n{‹S>`m| Ho$ ê$n _| {dH${gV hmoZo dmbr ~pñV`m| H$mo Š`m

Zm_ {X`m J`m h¡? [1]
What name is given to the settlements, that develop in remote jungles and hill
slopes in the form of isolated huts.

v) _mZd {dH$mg gyMH$m§H$ go Amn Š`m g_PVo h¢? [1]
What do you understand by Human Development Index?

vi) Ob n[adhZ gñVm Š`m| h¡? [1]
Why is water transport cheaper?

vii) EH$ CÎmaXm`r ZmJ[aH$ hmoZo Ho$ ZmVo _mZd-O{ZV ŷ-{ZåZrH$aU à{H«$`m H$mo H¡$go amoH|$Jo? [1]
Being a responsible citizen, how will we stop the man-made land degradation
process?

IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~IÊS> - ~

SECTION - B

bKwÎmamË_H$ àíZ -
Short Answer Type Questions -
4) Am{W©H$ ŷJmob Ho$ Xmo CnjoÌm| Ho$ Zm_ {b{IE & [¾ + ¾ = 1½]

Write names of two sub fields of Economic geography.

5) H$mobIhmoµO Š`m h¡? [1½]
What is Kolkhoz?

6) new AmYm[aV Xmo CÚmoJm| Ho$ Zm_ {b{IE & [¾ + ¾ = 1½]
Write two names of animal based industries.
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7) ^maV _| ~mobo OmZo dmbo {H$Ýht VrZ ^mfm n[admam| Ho$ Zm_ {b{IE & [½ + ½ + ½ = 1½]

Write names of any three language families spoken in India.

8) ewîH$ ŷ{_ H¥${f {H$go H$hVo h¡? [1½]

What is dry land farming?

9) ObàXÿfU Ho$ Xþîn[aUm_ ~VmBE & [1½]

Explain the bad effects of water pollution.

10) aob nQ>ar H$s Mm¡‹S>mB© Ho$ AmYma na ^maVr` aobdo Ho$ H$m¡Z-H$m¡Z go dJ© ~ZmE JE h¡? [1½]

Which categories of Indian Railways have been made on the basis of track width?

11) g_wÐr nÎmZm| H$mo A§Vaamï´>r` ì`mnma Ho$ àdoe Ûma Š`m| H$hVo h¢? [1½]

Why are sea ports called gateways to international trade?

12) àdmg Ho$ nrN>o bmoJm| Ho$ Š`m-Š`m CÔoí` ahVo h¡? [1½]

What are the motives of people behind migration?

13) ""Q´>H$ H¥${f'' na {Q>ßnUr {b{IE & [1½]

Write a short note on "Truck farming".

IÊS> - gIÊS> - gIÊS> - gIÊS> - gIÊS> - g

SECTION - C

XrK© CÎmar` àíZ -

Long Answer Type Questions -
14) J«m_rU {dnUZ Ho$ÝÐ H$s {deofVmE§ {b{IE & [3]

Write characteristics of Rural marketing centres.
AWdm/OR

ZJar` ~mOma Ho$ÝÐm| go Š`m Ame` h¡? g§{já _| g_PmBE &

What is the meaning of Urban marketing centres? Explain in brief.
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15) AmnHo$ AZwgma ŷ-Cn`moJ H$mo à^m{dV H$aZo dmbo AW©ì`dñWm Ho$ VrZ n[adV©Zm| H$mo g_PmBE &
[1 + 1 + 1 = 3]

According to you explain the three changes that an economy undergoes, which
effect land use.

AWdm/OR
^maV _| dZ joÌm|, J¡a H¥${f H$m`m] VWm naVr ŷ{_ _| d¥{Õ Ho$ H$maUm| H$s g_rjm H$s{OE &
Review the reasons for increase in land area under forest, non-agricultural and
fallow land in India.

16) ^maV _| gm¡a D$Om© d ndZ D$Om© H$m dU©Z H$s{OE & [1½ + 1½ = 3]
Describe solar energy and wind energy in India.

AWdm/OR
^maV _| I{ZO H$s {H$Ýht Xmo no{Q>`mo H$m dU©Z H$s{OE &
Describe any two mineral belts in India.

IÊS> - XIÊS> - XIÊS> - XIÊS> - XIÊS> - X
SECTION - D

{Z~§YmË_H$ àíZ -
Essay Type Questions -
17) amonU H¥${f H$s Mma \$gbm| Ho$ Zm_ {bIVo hþE Bg H¥${f H$s VrZ {deofVmAm| H$m dU©Z H$s{OE & [1 + 3 = 4]

Write the names of four crops of plantation agriculture and describe three
characteristics of this agriculture.

AWdm/OR
JhZ {Zdm©h H¥${f {H$go H$hVo h¡? Mmdb àYmZ JhZ {Zd©hZ H¥${f H$s VrZ {deofVmE§ {b{IE &
What is intensive Subsistence Agriculture? Write three characteristics of intensive
subsistence agriculture dominated by wet paddy cultivation.

18) {Z`moOZ go Amn Š`m g_PVo hmo? nd©Vr` joÌ Ho$ {dH$mg Ho$ {bE VrZ gwPmd Xr{OE & [1 + 3 = 4]
What do you understand by planning? Give three suggestions for the development
of Hill area.

AWdm/OR
gVV nmofUr` {dH$mg Š`m hmoVm h¡? gVV nmofUr` {dH$mg H$mo ~T>mdm XoZo Ho$ {bE VrZ Cnm` ~VmBE &
What is sustainable development? Give three suggestions to promote sustainable
development.
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IÊS> - `IÊS> - `IÊS> - `IÊS> - `IÊS> - `

SECTION - E

19) {XE JE {díd Ho$ aoIm-_mZ{MÌ _| {ZåZ{b{IV g_wÐr nÎmZm| H$mo A§{H$V H$s{OE -
[½ + ½ + ½ + ½ = 2]

(A) _w§~B© (~) Ý ỳ̀ mH©$

(g) nW© (X) Ho$n Q>mCZ

Mark the following sea ports on the given outline map of the world -

(A) Mumbai (B) New York

(C) Perth (D) Cape Town

20) {XE JE ^maV Ho$ aoIm-_mZ{MÌ _| {ZåZ{b{IV Vob emoYZ H$maImZm| H$mo A§{H$V H$s{OE -
[½ + ½ + ½ + ½ = 2]

(A) H$mo`br (~) ~rZm

(g) _§Jbyê$ (X) MoÝZB©

Mark the following oil refineries on the given outline map of India.

(A) Koyali (B) Bina

(C) Mangaluru (D) Chennai
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